Art.nr. 8822108
Rev.2018-01

&Y (0] MONTERINGSANVISNING  s~ye=

N
Link to english

ARMSTOD S3

Monteringsanvisning for:
Armstod S3 E!‘ E
art.nr. 4401200, 4401300
OBS! Rullstolen behdver ha bakaxel Carbon +1,5 cm E
monterad for att armstodet ska passa. H

Lank till
Verktyg som behovs: monteringsvideo

Insexnyckel 3 mm
I Insexnyckel 4 mm

1) Tag bort drivhjulen och lagg rullstolen 2) Montera fastet runt chassiréret och 3) Montera skruv M5x30 mm genom

uppochned. Ta fram ena fastet, hoger el- kam ihop det. Se sprangskiss pa sid 3. fastet in i den fastlddda géngade buss-

ler vaster. ningen i ramen. Drag at med insexnyckel -
3 mm..

A N\ <

o

i

4) Placera den gangade bussningen pa 5) Drag at den med insexnyckel 4 mm 6) Tag fram skruv M5x16 mm.
den motsatta sidan. ordentligt.

Panthera AB, Gunnebogatan 26, SE-163 53 Spanga, Sweden, +46-8-761 50 40, www.panthera.se


http://www.panthera.se/images/accessories/armstod_S3_1250_1.jpg
https://vimeo.com/142342558

7) Montera den i det andra hélet. ' — g) I:t)ll_‘a? at med insexnyckel 4 mm or- 9) Vand pa rullstolen.. r B
entligt.

10) Montera sen armstodet i fastet.
Upprepa proceduren for det andra arm-
stodet.

|\.
3

Panthera AB, Gunnebogatan 26, SE-163 53 Spanga, Sweden, +46-8-761 50 40, www.panthera.se



SPRANGSKISS

Benamning
Faste armstod 53/U3 hoger
Faste armstod 53/U3 vanster

Mutter inside amrstodsTaste 53 - - 4401065
Bult MC6S MSx16 FZSV 6002517
Buit MFES M5x30 6007532

=

Panthera AB, Gunnebogatan 26, SE-163 53 Spanga, Sweden, +46-8-761 50 40, www.panthera.se



an,'h eY (o] ASSEMBLY INSTRUCTIONS

ARM SUPPORT S3

Assembly instructions for:
Arm support S3

art.no. 4401200, 4401300
NOTE! The wheelchair needs to be equipped with

rear axle CARBON +1,5 cm for the arm support S3 to fit.

Lank till svenska

Link to

Tools needed: i
assembly video

Allen key 3 mm
LAIIen key 4 mm

1) Remove the rear wheels and turn the 2) Mount the attachment around the 3) Mount screw M5x30 mm through the
wheelchair up side down. Bring out one chassis tube and fold it. See exploded attachment into the threaded knob in the
of the attachments, left or right. view on page 3. chassis. Tighten with allen key 3 mm. N

N N\

o

i

4) Place the threaded bushing on the 5) Tighten with allen key 4 mm firmly. 6) Bring out screw M5x16 mm.
oposite side.

Panthera AB, Gunnebogatan 26, SE-163 53 Spanga, Sweden, +46-8-761 50 40, www.panthera.se


http://www.panthera.se/images/accessories/armstod_S3_1250_1.jpg
https://vimeo.com/142342558

7) Mount it in the other hole. ' g 8) Tighten with allen key 4 mm firmly. 9) Turn the wheelchair around. r B

A

3

10) Then mount the arm support into the
attachment. Repeat the procedure on

the other arm support. I —————

Panthera AB, Gunnebogatan 26, SE-163 53 Spanga, Sweden, +46-8-761 50 40, www.panthera.se



EXPLODED VIEW

De=scription

Attachment armrest S3/U3 right

Attachment armrest S3/U3 left

f I 3 i le to orde
fo order

HMut inside armrest affachment 53
Bolt MCES M5x16 FZ5V

Bolt MFBS M5x30

Springy Tube-pin 3x40

Panthera AB, Gunnebogatan 26, SE-163 53 Spanga, Sweden, +46-8-761 50 40, www.panthera.se



